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[FME-] REBR
(x +93)P(x - 93) + (x — 93) P(x +93) = 2xP(x) (1)
HEHESIEXPX) - |

[4£me])]: Bx=-BRAADATH
| 0-P(-186)-186- P(0) = ~186- P(-93),
& $7T 4% P(0) = P(-93); Bx =93 RA(DATH
186- P(0)+0- P(186) =186 - P(93),
& ST 42 P(0) = P(93); F7 3% P(0) = P(93)= P(-93). % P(0)=P(93)=P(-93)=c, Rl P(x)=c
& /B -93,0,93, BRGATAESERNOX) EFPE)TRERS

P(x)=x(x~- 93)(x+93)Q(x)+c 2)
%%xkb/r‘w\(l)aubm, B ok x(x—93)(x+93) T #
’ (x—186)Q(x —93) + (x +186)Q(x +93) = 2x0(x) . (3)

B Q)X ENAEHE B x=-93,0,93 80 8L, BOG) & %ER, FUAGRAHERAELT
xEREL 200 =ak—FHEBEXIE, MNAOXTETA
a(x—186)+a(x+186) = 2ax;
BB AR R I, B @
| P(x) = ax(x—93)(x+93) + ¢ = ax’ —8649ax + ¢
di% R (DK -
BAEAKMAEEEE Q) =at—¥HFAEK. w0(186)=0(93x2)=a. Ax=186=93x24
AB)R, BITTH
0x O(93) +(93x4)x O(93x3) = (93x 4)x O(93x 2) ,
B LT
| 0(93x3) = 0(93x2) =a.
BLx=279=93x3KAB)R, BIMATHE
93x O(186) +(93x5)x Q(93x 4) = (93x 6) x Q(93x3),
ékt’}‘ I3xa+(93x5)x 0(93x4) =(93x6)xa, B QO93x4)=a. FE L, HHEENET
El %;ﬁ"ﬁﬁ%’é‘)ﬁg%’:n>2 Q(93xn)y=a. ﬁrrLAO(x) a, B
‘ P(x) = ax’ -864%x+c,
EFacTUREENTE



(M=) ®%xywiREEFTH HF:

(14 x)(1+ 1)+ )+ w) = (1+ Yooz )1+ 3 3zw )1+ Y zwm )1+ 3wy ).

[$2m%])]: HREEFRER(a+brczWabe), 45
A+x)(1+ A+ 2)=1+(x+y+2)+(y+yz +zx) + 0z
21+3{/—x57":+33 (xyz)* +xyz
=(1+3mz).
R 4%,
' L+ )1+ 2)(1+w) = (1+ 3 yzw ),
A+ 2)A+w)(1+x)=(1+¥zwx ),
A+w)(1+x)1+3) = (1+ 3wy ).
BrawERERAR LA TH '
L+ )1+ YY1+ 2)A+w) = 1+ oz )1+ 3yzw )1+ Y zwx W1+ 3wy ),
AEPERRIS LB GEEx=y=2=W.

[Fga=):£A4BC®, LBREA, 2RMEHBC~ CA~ AB 57D~ E ~ F. &
B EFRESBCAMNEG, BES EF &% % BCHE H. 3% AGHE #9528
B AB XMEK. 2B GK=GD.

wE R, GBS 8EEEGD =GF GE. X /B #1 LFEH %% &, AGHE £ AGFB #24y,
. $ . GE:GB=GH:GF, B9 GF-GE=GB-GH, B2 GD =GB-GH. %% &, B G H E~
K me£H, L LFEH 545 A, 12 ZGKH 54 A. %, AGKH £ AGKB A .. B it,
GH:GK=GK:GB, 97 GK =GB-GH . 434X L% 2T/ GK =GD . %, GK=GD.





